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Note — Attempt five questions in all. Q. No. 1 is compulsory.

1. (2)

All questions carry equal marks.
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B. Raj and Co. sells goods on cash as well as
credit. The following particulars are expected

from their books of accounts :

Amount (in Rs.)

Total Sales 1,00,000
Cash Sales 20,000
Sales Returns 7,000

Trade Debtors on 31-12-12 - 9,000
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Bills Receivable on 31-12-12 2000

Provisions for Dbubtf’ul Debt 1,000

Calculate the average collection period.

(Z) The following are the ratios relating i the

activiti.es' of National Traders T.itd.

Debtors velocity

3 months
Stock velocity & months
Creditors velocity 2 months
Gross Profit Ratio 25%,

Gross Profit for the vear ended on 31st Dec.

2012 amounts to Rs. 400,000, closing stoclk of

one year is Rs. 10,000 above the spening stock.

Rills reccivable areount to s, 25,000 and bills

payable to Rs. 10,000. Find oug sales Sundry

debtors, Closing stock and Creditors. 30
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T (v FH)
o fama 1,00,000
7%y famg 20,000
fawg  aryt 7,000
31-12-12 Wl =fRE Fewr 9,000
31-12-12 = Wy faer 2,000
T W wH wrEYH 1,000

P.T.O.
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31-1?:'!1'&12012'«%%@%31@ T8 = oo
HHSA TH 4,00,000 T. ¥ 74 T 3T (Closing)
% yRfyw (IefH) ®@fF $ W 10,000 3.
®1 w7 fam 25,000 5. wen FfEE 10,000 % 1

fawa, fafay AR, s = ao e 3@
Fifs )
What is value of money ? Why is the value of
Indian Currency depreciating in comparison to US
Dollar ? 30
gmmlwwt ? YREE s W ged it
BeR ®f gom H = wm &2
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What - are the functions of commercial banking in
India ? Explain the recent developments in the

operations of commercial banks in India. 30
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Discuss the basic reasons for International trade.
Explain the current problems of India’s International
Trade. 30
IR SR % SMURYA HR =+ s Hi |
YA % AR SR ® AdHE OHEEi @)
R EJELS |
What is difference between check and internal audit ?
Describe a system of Internal check for a big business
house, where most of the sales are affected through
cash, . 30

P.T.O.
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(I  From the following particulars of income of
Mr. Avanish Kumar for the year ended on 31st
March, 2012, calculate total income for the

assessment year 2012-13
(€3] Sala.ry Rs. 10,000 p.m.

-(ii) Interest received from Bank of Baroda on
fixed deposit Rs. 900.
(iiz) Interest received from Government

Securities Rs. 7,.500.

(fv) Interest received from Maruti Ltd. on Fixed

Deposit Rs. 5,388,

|
|
|
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(wi)

(vii)

(viit)

Gix)
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Dividend received ort .equ.ity share of D.C.M.
Ltd. Rs. 4,000 (Gross)

Dividend received from a Cooperative
Society Rs. 200.

Income received from units of Mutual Fund
Rs. 8,950 (Net).

He owns a poultry farm also its profits
for the previous vyear amounted to
Rs. 51,000.

He sold his residential house on : 11th
April, 2005 for Rs. 3,225,000 which he had
purchased for Rs: 20,000 in 1979 and its
fair market value on 1-4-1981 was

Rs. 30,000,

P.T.O.
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() Other LTCG Rs. 19,100.

(xi) He purchased National Saving Certificate

VIII issue on 31-3-2006 for Rs. 10,000.

(xit) He paid Rs. 10,000 to a political party. Cost
inflation index in 1981-82 was 100 and in
2005-2006 its was 497. 20

What are the provisions regarding deduction at

-

source under the head ‘Salaries’. 2 What would
be the consequences, if tax is not deducted at

source ? ~ 10

31 HH, m12aﬁmﬁ%maﬁﬁﬁ.
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Fuftor =9 2012-2013 W forg =|mer s = o

i

@ AT 10,000 . "W =e)
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=TS 900 W. |

) \ERTE wfagfaat | ursr =™ 7,500 .

Gv) Froee fedifse (EmEfa smr) o orsfa for
H W =TSt 5,388 6. |

() EBrEhum. & @ guar s uT wrwm enwier
4,000 F. (HHET) |

(i) W Heshrd 9Efa J§ urem @FFS To emaier
200 F. | |

(viz) HHTAN Hos = YHsw VB wrm s

8,950 ¥. ()|
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(iii). I€ Weh I HEH-BRPHE H AT Arfees §

(x)

(x)

(xz)

(xzz)

o 99 =HHT MY 51,000 T. #6T|

IEF 9 et 9= 11 3T9er, 2005
I 3,25,000 T H =7 59 S@9 1979 #H
20,000 ¥. H WOST o7 99T 1-4-1981 =H1 SHHT

g S Hed 30,000 T 9T

= LTCG 19,100 %. 1

IUT  31-3-2006 Tl mifm oq9d 9THOT-9
VIII ¥ 10,000 & #| @ar|

I UH USHITAss 6T 1 10,000 F. 37
o3 mma afis =i 1981-82 H 100

g7 TUT 2005-2006 T JUE 497 9T |
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What is difference between manager and leader 2

Discuss the human relations approach to

management. What are its major limitations in

relation to prevailing development in the field of

management 7 30

wdwmvﬁmﬁwmt?mmw
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g 2
“If sales forecast is subject to error, then, there is
no purpose of budgeting.” Do you agree ? Also explafn

how a flexible budget can be used by management

to help control costs. 30

P.T0.
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